RESEARCH

Boundary Value Problems a SpringerOpen Journal

Open Access

Particular solutions of a certain class of associated Cauchy-Euler fractional partial differential equations via fractional calculus

Shy-Der Lin*, Chia-Hung Lu and Shou-Mei Su

*Correspondence: shyder@cycu.edu.tw Department of Applied Mathematics, Chung Yuan Christian University, Chung-Li, 32023, Taiwan, R.O.C.

Abstract

In recent years, various operators of fractional calculus (that is, calculus of integrals and derivatives of arbitrary real or complex orders) have been investigated and applied in many remarkably diverse fields of science and engineering. Many authors have demonstrated the usefulness of fractional calculus in the derivation of particular solutions of a number of linear ordinary and partial differential equations of the second and higher orders. The purpose of this paper is to present a certain class of the explicit particular solutions of the associated Cauchy-Euler fractional partial differential equation of arbitrary real or complex orders and their applications as follows:

$$Ax^{2}\frac{\partial^{2}u}{\partial x^{2}} + Bx\frac{\partial u}{\partial x} + Cu = M\frac{\partial^{\alpha}u}{\partial t^{\alpha}} + N\frac{\partial^{\beta}u}{\partial t^{\beta}},$$
(P₁)

$$A\frac{\partial^2 u}{\partial x^2} + B\frac{\partial u}{\partial x} + Cu = M\frac{\partial^{\alpha} u}{\partial t^{\alpha}} + N\frac{\partial^{\beta} u}{\partial t^{\beta}},$$
(P₂)

where u = u(x, t); A, B, C, M, N, α and β are arbitrary constants. **MSC:** 26A33; 33C10; 34A05

Keywords: fractional calculus; differential equation; partial differential equation; generalized Leibniz rule; analytic function; index law; linearity property; principle value; initial and boundary value

1 Introduction, definitions and preliminaries

The subject of fractional calculus (that is, derivatives and integrals of any real or complex order) has gained importance and popularity during the past two decades or so, due mainly to its demonstrated applications in numerous seemingly diverse fields of science and engineering (*cf.* [1–15]). By applying the following definition of a *fractional differential* (that is, *fractional derivative* and *fractional integral*) of order $v \in \mathbb{R}$, many authors have obtained particular solutions of a number of families of homogeneous (as well as nonhomogeneous) linear fractional differ-integral equations.

In this paper, we present a direct way to obtain explicit solutions of such types of the associated Cauchy-Euler fractional partial differential equation with initial and boundary values. The results are a coincidence that the solutions are obtained by the methods apply-



© 2013 Lin et al.; licensee Springer. This is an Open Access article distributed under the terms of the Creative Commons Attribution License (http://creativecommons.org/licenses/by/2.0), which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited. ing the Laplace transform with the residue theorem. In this paper, we present some useful definitions and preliminaries for the paper as follows.

Definitions 1.1 (*cf.* [6–10]) If the function f(z) is analytic and has no branch point inside and on C, where

$$\mathcal{C} := \{\mathcal{C}_{-}, \mathcal{C}_{+}\} \tag{1.1}$$

 C_- is an integral curve along the cut joining the points z and $-\infty + i\mathcal{T}(z)$, C_+ is an integral curve along the cut joining the points z and $\infty + i\mathcal{T}(z)$,

$$f_{\nu}(z) = {}_{\mathcal{C}}f_{\nu}(z) := \frac{\Gamma(\nu+1)}{2\pi i} \int_{\mathcal{C}} \frac{f(\zeta) d\zeta}{(\zeta-z)^{\nu+1}} \quad \left(\nu \in \mathbb{R}/\mathbb{Z}^{-}; \mathbb{Z}^{-} := \{-1, -2, -3, \ldots\}\right)$$
(1.2)

and

$$f_{-n}(z) := \lim_{\nu \to -n} \{ f_{\nu}(z) \} \quad (n \in \mathbb{N} := \{1, 2, 3, \ldots\}),$$
(1.3)

where $\zeta \neq z$,

$$-\pi \le \arg(\zeta - z) \le \pi \quad \text{for } \mathcal{C}_{-},\tag{1.4}$$

and

$$0 \le \arg(\zeta - z) \le 2\pi \quad \text{for } \mathcal{C}_+,\tag{1.5}$$

then $f_{\nu}(z)$ ($\nu > 0$) is said to be the *fractional derivative* of f(z) of order ν and $f_{\nu}(z)$ ($\nu < 0$) is said to be the *fractional integral* of f(z) of order $-\nu$, provided that

$$\left|f_{\nu}(z)\right| < \infty \quad (\nu \in \mathbb{R}).$$
(1.6)

First of all, we find it is worthwhile to recall here the following useful lemmas and properties associated with the fractional differ-integration which is defined above.

Lemma 1.1 (Linearity property) *If the functions* f(z) *and* g(z) *are single-valued and analytic in some domain* $\Omega \subseteq \mathbb{C}$ *, then*

$$(k_1 f + k_2 g)_{\nu} = k_1 f_{\nu} + k_2 g_{\nu} \quad (\nu \in \mathbb{R}, z \in \Omega)$$
(1.7)

for any constants k_1 and k_2 .

Lemma 1.2 (Index law) If the function f(z) is single-valued and analytic in some domain $\Omega \subseteq \mathbb{C}$, then

$$(f_{\mu})_{\nu} = f_{\mu+\nu} = (f_{\nu})_{\mu} \quad (f_{\mu} \neq 0, f_{\nu} \neq 0, \mu, \nu \in \mathbb{R}, z \in \Omega).$$
(1.8)

Lemma 1.3 (Generalized Leibniz rule) *If the functions* f(z) *and* g(z) *are single-valued and analytic in some domain* $\Omega \subseteq \mathbb{C}$ *, then*

$$(f \cdot g)_{\nu} = \sum_{n=0}^{\infty} {\binom{\nu}{n}} f_{\nu-n} \cdot g_n \quad (\nu \in \mathbb{R}, z \in \Omega),$$
(1.9)

where g_n is the ordinary derivative of g(z) of order n ($n \in \mathbb{N}_0 := \mathbb{N} \cup \{0\}$), it being tacitly assumed (for simplicity) that g(z) is the polynomial part (if any) of the product f(z)g(z).

Lemma 1.4 (Cauchy's residue theorem) Let Ω be a simple connected domain, and let C be a simple closed positively oriented contour that lies in Ω . If f is analytic inside C and on C, expect at the point $z_1, z_2, ..., z_n$ that lie inside C, then

$$\int_C f(z) dz = 2\pi i \sum_{k=1}^n \operatorname{Res}[f, z_k].$$

(I) If f has a simple pole at z_0 , then

$$\operatorname{Res}[f, z_0] = \lim_{z \to z_0} (z - z_0) f(z);$$

(II) If f has a pole of order k at z_0 , then

$$\operatorname{Res}[f, z_0] = \frac{1}{(k-1)!} \lim_{z \to z_0} \frac{d^{k-1}}{dz^{k-1}} (z - z_0)^k f(z).$$

Property 1.1 (cf. [6-10]) For a constant a,

$$\left(e^{az}\right)_{\nu} = a^{\nu}e^{az} \quad (a \neq 0, \nu \in \mathbb{R}, z \in \mathbb{C}).$$

$$(1.10)$$

Proof The proofs between ' ν is not an integer' and ' ν is an integer' are not coincident, so we mention the proof as follows.

In case of $|\arg a| < \pi/2$, we have

$$(e^{az})_{\nu} = \mathcal{C}_{-} (e^{az})_{\nu} = \frac{\Gamma(\nu+1)}{2\pi i} \int_{\mathcal{C}_{-}} \frac{e^{a\zeta}}{(\zeta-z)^{\nu+1}} d\zeta \quad (\text{put } \zeta - z = \eta \text{ and } a\eta = \xi, |\arg \eta| \le \pi)$$

= $a^{\nu} e^{az} \frac{\Gamma(\nu+1)}{2\pi i} \int_{-\infty e^{i\phi}}^{(0+)} \xi^{-(\nu+1)} e^{\xi} d\xi \quad (\phi = \arg a)$
= $a^{\nu} e^{az} \frac{\Gamma(\nu+1)}{2\pi i} \int_{-\infty}^{(0+)} \xi^{-(\nu+1)} e^{\xi} d\xi \quad \left(\text{for } |\phi| < \frac{\pi}{2}\right) = a^{\nu} e^{az}$

for $|\arg a| < \pi/2$ since $\int_{-\infty}^{(0+)} \xi^{-(\nu+1)} e^{\xi} d\xi = \frac{2\pi i}{\Gamma(\nu+1)}$. In case of $\pi/2 < |\arg a| \le \pi$, we have

$$(e^{az})_{\nu} = \mathcal{C}_{+}(e^{az})_{\nu} = \frac{\Gamma(\nu+1)}{2\pi i} \int_{\mathcal{C}_{+}} \frac{e^{a\zeta}}{(\zeta-z)^{\nu+1}} d\zeta$$

(put $\zeta - z = \eta$ and $a\eta = \xi, 0 \le \arg \eta \le 2\pi$)

$$= a^{\nu} e^{az} \frac{\Gamma(\nu+1)}{2\pi i} \int_{\infty e^{i\phi}}^{(0+)} \xi^{-(\nu+1)} e^{\xi} d\xi \quad (\phi = \arg a)$$

$$= a^{\nu} e^{az} \frac{\Gamma(\nu+1)}{2\pi i} \int_{-\infty}^{(0+)} \xi^{-(\nu+1)} e^{\xi} d\xi \quad \left(\text{for } \frac{\pi}{2} < |\phi| \le \pi \right)$$

$$= a^{\nu} e^{az}.$$

Therefore we have Property 1.1 for arbitrary $a \neq 0$.

Property 1.2 For a constant a,

$$\left(e^{-az}\right)_{\nu} = e^{-i\pi\nu} a^{\nu} e^{-az} \quad (a \neq 0, \nu \in \mathbb{R}, z \in \mathbb{C}).$$

$$(1.11)$$

Property 1.3 For a constant a,

$$\left(z^{a}\right)_{\nu} = e^{-i\pi\nu} \frac{\Gamma(\nu-a)}{\Gamma(-a)} z^{a-\nu} \quad \left(\nu \in \mathbb{R}, z \in \mathbb{C}, \left|\frac{\Gamma(\nu-a)}{\Gamma(-a)}\right| < \infty\right).$$
(1.12)

Property 1.4 (cf. [2, 16, 17]) The fractional derivative of a causal function f(t) is defined by

$$\frac{d^{\alpha}}{dt^{\alpha}}f(t) := \begin{cases} f^{(n)}(t) & \text{if } \alpha = n \in \mathbb{N}, \\ \frac{1}{\Gamma(n-\alpha)} \int_0^t \frac{f^{(n)}(\tau)}{(t-\tau)^{\alpha+1-n}} d\tau & \text{if } n-1 < \alpha < n, \end{cases}$$
(1.13)

where $f^{(n)}(t)$ denotes the ordinary derivative of order *n* and Γ is the gamma function. The Laplace transform of a function f(t) is denoted as

$$\mathcal{L}\{f(t)\}(s) = \int_0^{+\infty} e^{-st} f(t) \, dt, \tag{1.14}$$

where *s* is the Laplace complex parameter. We recall from the fundamental formula (cf. [16])

$$\mathcal{L}\left\{\frac{d^{\alpha}}{dt^{\alpha}}f(t)\right\}(s) = s^{\alpha}\mathcal{L}\left\{f(t)\right\}(s) - \sum_{k=1}^{n} s^{\alpha-k} f^{(k-1)}(0), \quad n-1 < \alpha \le n, n \in \mathbb{N}.$$
(1.15)

2 Main results

Theorem 2.1 The fractional partial differential equation

$$Ax^{2}\frac{\partial^{2}u}{\partial x^{2}} + Bx\frac{\partial u}{\partial x} + Cu = M\frac{\partial^{\alpha}u}{\partial t^{\alpha}} + N\frac{\partial^{\beta}u}{\partial t^{\beta}},$$
(2.1)

with u = u(x,t), $n - 1 < \alpha, \beta \le n$, $n \in \mathbb{N}$ and $A (\ne 0)$, B, C, M, N are constants, has its solutions of the form given by

(a)

$$u(x,t) = e^{\lambda t} \Big[k_1 x \frac{A - B + \sqrt{(A - B)^2 - 4A(C - M\lambda^{\alpha} - N\lambda^{\beta})}}{2A} + k_2 x \frac{A - B - \sqrt{(A - B)^2 - 4A(C - M\lambda^{\alpha} - N\lambda^{\beta})}}{2A} \Big], \quad (2.2)$$

when the discriminant $(A - B)^2 - 4A(C - M\lambda^{\alpha} - N\lambda^{\beta}) > 0$;

(b)

$$u(x,t) = e^{\lambda t} \left[k_1 x^m + k_2 x^m \ln x \right],$$

when the discriminant $(A - B)^2 - 4A(C - M\lambda^{\alpha} - N\lambda^{\beta}) = 0$, and the roots m_1 , m_2 of Equation (2.5) are repeated; that is, $m_1 = m_2 = m$;

(c)

$$u(x,t) = e^{\lambda t} \left[k_1 x^{a+bi} + k_2 x^{a-bi} \right],$$

when the discriminant $(A - B)^2 - 4A(C - M\lambda^{\alpha} - N\lambda^{\beta}) < 0$, and a + bi, a - bi are the conjugate pair roots of Equation (2.5).

Proof Suppose that $u(x, t) = x^m e^{\lambda t}$. We have

$$\frac{\partial u}{\partial x} = mx^{m-1}e^{\lambda t},$$

$$\frac{\partial^{2} u}{\partial x^{2}} = m(m-1)x^{m-1}e^{\lambda t},$$

$$\frac{\partial^{\alpha} u}{\partial t^{\alpha}} = \lambda^{\alpha}x^{m}e^{\lambda t}, \quad \text{and}$$

$$\frac{\partial^{\beta} u}{\partial t^{\beta}} = \lambda^{\beta}x^{m}e^{\lambda t}.$$
(2.3)

So that the given equation (2.1) becomes

$$Am(m-1)x^{m}e^{\lambda t} + Bmx^{m}e^{\lambda t} + Cx^{m}e^{\lambda t} - M\lambda^{\alpha}x^{m}e^{\lambda t} - N\lambda^{\beta}x^{m}e^{\lambda t} = 0.$$

$$(2.4)$$

Equation (2.4) leads to the auxiliary equation

$$Am(m-1) + Bm + C - M\lambda^{\alpha} - N\lambda^{\beta} = 0$$

(or $Am^{2} - (A - B)m + (C - M\lambda^{\alpha} - N\lambda^{\beta}) = 0$). (2.5)

That is,

$$m_1 = \frac{A - B + \sqrt{(A - B)^2 - 4A(C - M\lambda^{\alpha} - N\lambda^{\beta})}}{2A}$$

and

$$m_2 = \frac{A - B - \sqrt{(A - B)^2 - 4A(C - M\lambda^{\alpha} - N\lambda^{\beta})}}{2A}$$

are the two roots of the auxiliary equation (2.5). Thus, $u(x, t) = \sum_{i=1}^{2} k_i x^{m_i} e^{\lambda t}$ is a solution of the fractional partial differential equation (2.1) whenever m_i (i = 1, 2) is a solution of the auxiliary equation (2.5).

There are three different cases to be considered, depending on whether the roots of this quadratic equation (2.5) are distinct real roots, equal real roots (repeated real roots), or

complex roots (roots appear as a conjugate pair). The three cases are due to the discriminant of the coefficients $\sqrt{(A-B)^2 - 4A(C-M\lambda^{\alpha} - N\lambda^{\beta})}$.

• Case I: Distinct real roots (when $(A - B)^2 - 4A(C - M\lambda^{\alpha} - N\lambda^{\beta}) > 0$).

Let m_1 and m_2 denote the real roots of Equation (2.5) such that $m_1 \neq m_2$. Then the general solution of Equation (2.1) is

$$u(x,t) = e^{\lambda t} (k_1 x^{m_1} + k_2 x^{m_2}),$$

where k_i (i = 1, 2) are constants.

• Case II: Repeated real roots (when $(A - B)^2 - 4A(C - M\lambda^{\alpha} - N\lambda^{\beta}) = 0$).

If the roots of Equation (2.5) are repeated, that is, $m_1 = m_2 = m$, then the general solution of Equation (2.1) is

$$u(x,t) = e^{\lambda t} (k_1 x^m + k_2 x^m \ln x),$$

where k_i (i = 1, 2) are constants.

• Case III: Conjugate complex roots (when $(A - B)^2 - 4A(C - M\lambda^{\alpha} - N\lambda^{\beta}) < 0$). If the roots of Equation (2.5) are the conjugate pair $m_1 = a + bi$ and $m_2 = a - bi$, then a solution of Equation (2.1) is

$$u(x,t)=e^{\lambda t}(k_1x^{a+bi}+k_2x^{a-bi}),$$

where k_i (i = 1, 2) are constants.

In general,

$$u(x,t) = e^{\lambda t} \left[k_1 x^{\frac{A-B+\sqrt{(A-B)^2 - 4A(C-M\lambda^\alpha - N\lambda^\beta)}}{2A}} + k_2 x^{\frac{A-B-\sqrt{(A-B)^2 - 4A(C-M\lambda^\alpha - N\lambda^\beta)}}{2A}} \right]$$

forms a fundamental solution, where k_1 , k_2 and λ are constants.

Theorem 2.2 *The fractional partial differential equation*

$$A\frac{\partial^2 u}{\partial x^2} + B\frac{\partial u}{\partial x} + Cu = M\frac{\partial^{\alpha} u}{\partial t^{\alpha}} + N\frac{\partial^{\beta} u}{\partial t^{\beta}},$$
(2.6)

with u = u(x,t), $n - 1 < \alpha, \beta \le n$, $n \in \mathbb{N}$ and $A (\ne 0)$, B, C, M, N are constants, has its solutions of the form given by

$$u(x,t) = e^{\lambda t} \Big[k_1 e^{\left(\frac{-B + \sqrt{B^2 - 4A(C - M\lambda^{\alpha} - N\lambda^{\beta})}}{2A}\right)x} + k_2 e^{\left(\frac{-B - \sqrt{B^2 - 4A(C - M\lambda^{\alpha} - N\lambda^{\beta})}}{2A}\right)x} \Big], \tag{2.7}$$

when the discriminant $B^2 - 4A(C - M\lambda^{\alpha} - N\lambda^{\beta}) > 0$;

(b′)

$$u(x,t) = e^{\lambda t} \left[k_1 e^{mx} + k_2 x e^{mx} \right],$$

when the discriminant $B^2 - 4A(C - M\lambda^{\alpha} - N\lambda^{\beta}) = 0$, and the roots m_1 , m_2 of Equation (2.10) are repeated; that is, $m_1 = m_2 = m$;

(c')

$$u(x,t) = e^{\lambda t} \left[k_1 x^{(a+bi)x} + k_2 x^{(a-bi)x} \right],$$

when the discriminant $B^2 - 4A(C - M\lambda^{\alpha} - N\lambda^{\beta}) < 0$, and a + bi, a - bi are the conjugate pair roots of Equation (2.10).

Proof The similarity between the forms of solutions of Equation (2.1) and solutions of a linear equation with constant coefficients of Equation (2.6) is not just a coincidence. Suppose that $u(x, t) = e^{mx}e^{\lambda t}$. We have

$$\frac{\partial u}{\partial x} = m e^{mx} e^{\lambda t},$$

$$\frac{\partial^2 u}{\partial x^2} = m^2 e^{mx} e^{\lambda t},$$

$$\frac{\partial^{\alpha} u}{\partial t^{\alpha}} = \lambda^{\alpha} e^{mx} e^{\lambda t},$$
and
$$\frac{\partial^{\beta} u}{\partial t^{\beta}} = \lambda^{\beta} e^{mx} e^{\lambda t}.$$
(2.8)

So that the given equation (2.6) becomes

$$Am^{2}e^{mx}e^{\lambda t} + Bme^{mx}e^{\lambda t} + Ce^{mx}e^{\lambda t} - M\lambda^{\alpha}e^{mx}e^{\lambda t} - N\lambda^{\beta}e^{mx}e^{\lambda t} = 0.$$

$$(2.9)$$

If m_1 and m_2 are the two roots of the auxiliary equation

$$Am^{2} + Bm + C - M\lambda^{\alpha} - N\lambda^{\beta} = 0, \qquad (2.10)$$

then

$$m = m_1 = \frac{-B + \sqrt{B^2 - 4A(C - M\lambda^{\alpha} - N\lambda^{\beta})}}{2A}$$

and

$$m = m_2 = \frac{-B - \sqrt{B^2 - 4A(C - M\lambda^{\alpha} - N\lambda^{\beta})}}{2A}.$$

The analysis of three cases is similar to Theorem 2.1, we can obtain each solution of the forms as follows:

 $\begin{aligned} u(x,t) &= e^{\lambda t} (k_1 e^{m_1 x} + k_2 e^{m_2 x}) \text{ with } m_1 \neq m_2, \text{ two distinct real roots,} \\ u(x,t) &= e^{\lambda t} (k_1 e^{mx} + k_2 x e^{mx}) \text{ with } m_1 = m_2 = m, \text{ repeated real roots, and} \\ u(x,t) &= e^{\lambda t} (k_1 e^{(a+ib)x} + k_2 e^{(a-ib)x}) \text{ with the conjugate complex roots.} \end{aligned}$

Remark The constant λ in Equations (2.2) and (2.7) can be solved directly by constant initial value and constant boundary values (or by the numerical methods).

Corollary 2.1 The fractional partial differential equation

$$Ax^{2}\frac{\partial^{2}u}{\partial x^{2}} + Bx\frac{\partial u}{\partial x} + C = M\frac{\partial^{\alpha}u}{\partial t^{\alpha}},$$
(2.11)

with u = u(x, t), $n - 1 < \alpha \le n$, $n \in \mathbb{N}$ and $A (\ne 0)$, B, C, M are constants, has its solutions of the form given by

(a″)

$$u(x,t) = e^{\lambda t} \left[k_1 x \frac{A - B + \sqrt{(A - B)^2 - 4A(C - M\lambda^{\alpha})}}{2A} + k_2 x \frac{A - B - \sqrt{(A - B)^2 - 4A(C - M\lambda^{\alpha})}}{2A} \right],$$
(2.12)

when the discriminant $(A - B)^2 - 4A(C - M\lambda^{\alpha}) > 0$;

(b")

$$u(x,t) = e^{\lambda t} \left[k_1 x^m + k_2 x^m \ln x \right],$$

when the discriminant $(A - B)^2 - 4A(C - M\lambda^{\alpha}) = 0$, and the roots m_1 , m_2 of Equation (2.5) with N = 0 are repeated; that is, $m_1 = m_2 = m$;

(c'')

$$u(x,t) = e^{\lambda t} \left[k_1 e^{a+bi} + k_2 e^{a-bi} \right],$$

when the discriminant $(A - B)^2 - 4A(C - M\lambda^{\alpha}) < 0$, and a + bi, a - bi are the conjugate pair roots of Equation (2.5) with N = 0.

Corollary 2.2 The fractional partial differential equation

$$A\frac{\partial^2 u}{\partial x^2} + B\frac{\partial u}{\partial x} + Cu = M\frac{\partial^{\alpha} u}{\partial t^{\alpha}},$$
(2.13)

with u = u(x, t), $n - 1 < \alpha \le n$, $n \in \mathbb{N}$ and $A (\ne 0)$, B, C, M are constants, has its solutions of the form given by

(a''')

$$u(x,t) = e^{\lambda t} \Big[k_1 e^{(\frac{-B + \sqrt{B^2 - 4A(C - M\lambda^{\alpha})}}{2A})x} + k_2 e^{(\frac{-B - \sqrt{B^2 - 4A(C - M\lambda^{\alpha})}}{2A})x} \Big],$$
(2.14)

when the discriminant $B^2 - 4A(C - M\lambda^{\alpha}) > 0$;

(b‴)

$$u(x,t) = e^{\lambda t} \left[k_1 e^{mx} + k_2 x e^{mx} \right],$$

when the discriminant $B^2 - 4A(C - M\lambda^{\alpha}) = 0$, and the roots m_1, m_2 of Equation (2.10) with N = 0 are repeated; that is, $m_1 = m_2 = m$;

(c''')

$$u(x,t) = e^{\lambda t} \left[k_1 e^{(a+bi)x} + k_2 e^{(a-bi)x} \right],$$

when the discriminant $B^2 - 4A(C - M\lambda^{\alpha}) < 0$, and a + bi, a - bi are the conjugate pair roots of Equation (2.10) with N = 0.

3 Examples

Example 3.1 If the two-dimensional harmonic equation $\nabla_1^2 u = 0$ is transformed to plane polar coordinates *r* and θ , defined by $x = r \cos \theta$, $y = r \sin \theta$, it takes the form

$$\frac{\partial^2 u}{\partial r^2} + \frac{1}{r} \frac{\partial u}{\partial r} + \frac{1}{r^2} \frac{\partial^2 u}{\partial \theta^2} = 0, \tag{3.1}$$

then it has solutions of the form

$$u(r,\theta) = \left(k_1 r^{i\lambda} + k_2 r^{-i\lambda}\right) e^{\lambda\theta},$$

where k_1 , k_2 and λ are constants.

Solution Equation (3.1) is coincident to

$$r^2 \frac{\partial^2 u}{\partial r^2} + r \frac{\partial u}{\partial r} + \frac{\partial^2 u}{\partial \theta^2} = 0.$$

We have the solution

$$u(r,\theta) = \left(k_1 r^{i\lambda} + k_2 r^{-i\lambda}\right) e^{\lambda\theta}$$

by taking A = 1, B = 1, C = 0, M = -1, N = 0 and $\alpha = 2$ in Theorem 2.1.

Example 3.2 The fractional partial differential equation

$$\frac{\partial^2 u}{\partial x^2} + \frac{\partial u}{\partial x} = \frac{\partial^{\alpha} u}{\partial t^{\alpha}} \quad \text{with } n-1 < \alpha \le n, n \in \mathbb{N}.$$

Solution Putting A = 1, B = 1, C = 0 and M = 1 in Corollary 2.2, we obtain the solution

$$u(x,t)=e^{\lambda t}\Big[c_1e^{(\frac{-1+\sqrt{1+4\lambda^{\alpha}}}{2})x}+c_2e^{(\frac{-1-\sqrt{1+4\lambda^{\alpha}}}{2})x}\Big],$$

where the discriminant $1 + 4\lambda^{\alpha} > 0$.

If $1 + 4\lambda^{\alpha} = 0$,

$$u(x,t) = e^{-(\frac{1}{2}x + \frac{1}{64}t)}(c_1 + c_2x).$$

The analysis of the case $1 + 4\lambda^{\alpha} < 0$ is similar to Theorem 2.2.

Example 3.3 The fractional partial differential equation

$$x^{2}\frac{\partial^{2} u}{\partial x^{2}} - x\frac{\partial u}{\partial x} = -2\frac{\partial^{\frac{1}{2}} u}{\partial t^{\frac{1}{2}}} \quad \text{with } u(1,t) = u(e,t) = 0.$$

Solution Putting A = 1, B = -1, C = 0 and M = -2 and $\alpha = \frac{1}{2}$ in Corollary 2.1, we obtain the solution

$$u(x,t) = xe^{\lambda t} \left[k_1 \cos \frac{\sqrt{4 \times 2\lambda^{\frac{1}{2}} - 4}}{2} \cdot \ln x + k_2 \sin \frac{\sqrt{4 \times 2\lambda^{\frac{1}{2}} - 4}}{2} \cdot \ln x \right]$$
$$= xe^{\lambda t} \left[k_1 \cos \sqrt{2\lambda^{\frac{1}{2}} - 1} \cdot \ln x + k_2 \sin \sqrt{2\lambda^{\frac{1}{2}} - 1} \cdot \ln x \right],$$

$$u(1, t) = k_1 e^{\lambda t} = 0$$
 implies $k_1 = 0$.

Then

$$u(x,t) = k_2 x e^{\lambda t} \sin \sqrt{2\lambda^{\frac{1}{2}} - 1} \cdot \ln x,$$

$$u(e,t) = k_2 e^{\lambda t + 1} \sin \sqrt{2\lambda^{\frac{1}{2}} - 1} = 0 \quad \text{implies that} \quad \sqrt{2\lambda^{\frac{1}{2}} - 1} = n\pi, \quad n \in \mathbb{Z}.$$

That is, $\lambda = \frac{(n^2 \pi^2 + 1)^2}{4}$. Thus, $u(x, t) = k_2 x e^{\frac{(n^2 \pi^2 + 1)^2}{4}t} \sin n\pi \cdot \ln x, n \in \mathbb{Z}$.

If the discriminant $2\lambda^{\frac{1}{2}} - 1 = 0$, the solution is trivial. If the discriminant $2\lambda^{\frac{1}{2}} - 1 < 0$, then the solution is

$$u(x,t) = k_1 e^{\frac{(n^2 + \pi^2)^2 t}{4}} \left(x^{1 + in\pi} - x^{1 - in\pi} \right), \quad n \in \mathbb{N}.$$

Example 3.4 The fractional partial differential equation

$$\frac{\partial^{\frac{2}{3}}u}{\partial t^{\frac{2}{3}}} = \frac{1}{4}\frac{\partial^{2}u}{\partial x^{2}} \quad \text{with } u(0,t) = e^{-2t}.$$

Solution Putting $\alpha = \frac{2}{3}$, $A = \frac{1}{4}$, B = 0, C = 0 and M = 1 in Corollary 2.2, the discriminant is $\lambda^{\frac{2}{3}} = (\lambda^{\frac{1}{3}})^2 \ge 0$, but $\lambda = 0$ leads to a contradiction, hence there are different real roots $m_1 = 2\lambda^{\frac{1}{3}}$ and $m_2 = -2\lambda^{\frac{1}{3}}$, so that we have

$$u(x,t) = e^{\lambda t} \left(k_1 e^{2\lambda^{\frac{1}{3}} x} + k_2 e^{-2\lambda^{\frac{1}{3}} x} \right).$$

By the boundary condition $u(0, t) = e^{-2t}$, we obtain $\lambda = -2$ and $k_1 + k_2 = 1$. So,

$$u(x,t) = e^{-2t}e^{2\sqrt[3]{2}x} - 2k_1e^{-2t}\sinh\left(2\sqrt[3]{2}x\right) = e^{-2t}e^{-2\sqrt[3]{2}x} + 2k_2e^{-2t}\sinh\left(2\sqrt[3]{2}x\right),$$

and the particular solution is

$$u(x,t) = e^{-2t} e^{2\sqrt[3]{2}x} \quad \big(\text{or } u(x,t) = e^{-2t} e^{-2\sqrt[3]{2}x} \big).$$

If we apply the Laplace transform to $\phi(t) = u(0,t) = e^{-2t}$, then $\mathcal{L}\{\phi(t)\}(s) = \frac{1}{s+2}$ and $\tilde{u}(x,s) = \frac{1}{s+2}e^{-2xs^{\frac{1}{3}}}$. Using the residue theorem,

$$u(x,t) = \frac{1}{2\pi i} \int_C e^{st} \frac{1}{s+2} e^{-2xs^{\frac{1}{3}}} ds$$
$$= \frac{1}{2\pi i} \cdot 2\pi i \lim_{s \to -2} (s+2) \frac{e^{-2xs^{\frac{1}{3}}} e^{st}}{s+2}$$
$$= e^{-2t} e^{2\sqrt[3]{2}x}.$$

The solution obtained by the method of Laplace transform and the residue theorem is a coincidence, which is our result above.

Competing interests

The authors declare that they have no competing interests.

Authors' contributions

SDL carried out the molecular genetic studies, participated in the sequence alignment and drafted the manuscript. CHL carried out the immunoassays. SMS participated in the sequence alignment.

Acknowledgements

Dedicated to Professor Hari M Srivastava.

The authors are deeply appreciative of the comments and suggestions offered by the referees for improving the quality and rigor of this paper. The present investigation was supported, in part, by the National Science Council of the Republic of China under Grant NSC-101-2115-M-033-002.

Received: 30 January 2013 Accepted: 1 May 2013 Published: 16 May 2013

References

- 1. Hilfer, R (ed.): Applications of Fractional Calculus in Physics. World Scientific, River Edge (2000)
- 2. Kilbas, AA, Srivastava, HM, Trujillo, JJ: Theory and Applications of Fractional Differential Equations. Elsevier, Amsterdam (2006)
- Lin, S-D, Chang, L-F, Srivastava, HM: Some families of series identities and associated fractional differintegral formulas. Integral Transforms Spec. Funct. 20(10), 737-749 (2009)
- Lin, S-D, Tu, S-T, Srivastava, HM: Explicit solutions of certain ordinary differential equations by means of fractional calculus. J. Fract. Calc. 20, 35-43 (2001)
- 5. Mainardi, F: The time fractional diffusion-wave equation. Izv. Vysš. Učebn. Zaved., Radiofiz. 38(1-2), 20-36 (1995)
- 6. Nishimoto, K: Fractional Calculus, vol. 1. Descartes Press, Koriyama (1984)
- 7. Nishimoto, K: Fractional Calculus, vol. 2. Descartes Press, Koriyama (1987)
- 8. Nishimoto, K: Fractional Calculus, vol. 3. Descartes Press, Koriyama (1989)
- 9. Nishimoto, K: Fractional Calculus, vol. 4. Descartes Press, Koriyama (1991)
- 10. Nishimoto, K: Fractional Calculus, vol. 5. Descartes Press, Koriyama (1996)
- 11. Podlubny, I: Fractional Differential Equations, Mathematics in Science and Engineering. Academic Press, New York (1999)
- 12. Srivastava, HM, Owa, S, Nishimoto, K: Some fractional differintegral equations. J. Math. Anal. Appl. 106, 360-366 (1985)
- 13. Tu, S-T, Chyan, D-K, Srivastava, HM: Some families of ordinary and partial fractional differintegral equations. Integral Transforms Spec. Funct. **11**, 291-302 (2001)
- 14. Eidelman, SD, Kochubei, AN: Cauchy problem for fractional diffusion equation. J. Differ. Equ. 199(2), 211-255 (2004)
- 15. Schneider, WR, Wyss, W: Fractional diffusion and wave equation. J. Math. Phys. 30(1), 134-144 (1989)
- 16. Caputo, M: Elasticita e Dissipazione. Zanichelli, Bologna (1969)
- 17. Mainardi, F: The fundamental solutions for the fractional diffusion-wave equation. Appl. Math. Lett. 9(6), 23-28 (1996)

doi:10.1186/1687-2770-2013-126

Cite this article as: Lin et al.: Particular solutions of a certain class of associated Cauchy-Euler fractional partial differential equations via fractional calculus. *Boundary Value Problems* 2013 2013:126.

Submit your manuscript to a SpringerOpen[®] journal and benefit from:

- ► Convenient online submission
- ► Rigorous peer review
- Immediate publication on acceptance
- ► Open access: articles freely available online
- ► High visibility within the field
- ► Retaining the copyright to your article

Submit your next manuscript at > springeropen.com